ERNRAKROBEEIEHRT — 2 XN—ZXBISH—F 201658110 (k) 4EEME28

m B2 #5%4m®L B I
[A&4£] 1% :700,000  ~ 237%&:168,000  ~ 3 #&:84,000  ~ 43#&:56,000™ 5 3&:42,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
t o6 | AKX 1:29.0 1-1-1-1 [38.1| — 8 560 | EBEES (EH)
12| 7R SR ) g 56.0 (=) (+4) (%) 77—RPEY 3>
24 Fx v b B:=275454—FR HE77—L
N N £ 4 | RHER 1:29.2 4-4-4-4 | 38.0| — 9 472 | ARERSL (EH)
2 1| T11—-EY =7 - 56.0 (1 1/4) (+4) | DR
R KRKYIUYZXIR B:iIRT14—F2Z FREBS
i it o9 | MEREF 1:29.2 6-5-5-5 |38.0 | — 5 480 | FEAAME (EIME)
3N 4 JLA U XIL— 0 (74%) (-13) fH) F—ILHANZX MEES
LA —=JWHhT BN pailz:bve ]
. . EAfEnE . 0 n_ — FREE ()
418l10| 71> N1 2R - 1(/72?:)3 MR R 2 3337) TEEA
R:T7—3IUF7> B:ayTELR =4 =2
— . HZ 129, —~7-6- . - OB (k)
5155 SATTTHEAIL 4 4 54_0% 1(729t;1 7-7-6-7 | 37.9 1 (4_625) B
:TUYA XTI N BT 47 b ZHTT7 — L
_ # o5 | REBE 1:29.5 | 10-10-10-9 | 37.5| — | 4 | 450 |#EH (k)
67 7| TLIT—X 56.0 (%€) G | W8 77—z brEVas
L7 Rv14YL—> B:EXMORY/NY NHT 7—L4
- R . 66 _ IV ()
7 6l TNETU T4 7 i 1(72?:;5 8-8-8-6 | 37.7 10 12(7»3 ;&g
L:79%t¥% B:3-F-— IEE Rk
K & ABB : 00— — FEHE (B
alzlg| bor 17715 o4 oy 1.(219).7 2-2-2-2 | 38.7 3 <5+119) %ﬂg}%
L:€r/0704 B:Arbho¥FSC b R EE
s t 6 | AFiE 1:30.1 9-9-7-8 [38.3| — 6 451 | BIIFER (ES)
9/8l9| 7YV /RTV> * 56.0 2 1/2) 1) FANT
RTIRAFIEIN BiahITU—> AAYELRT7—L
e 7, _6-0- 7] = ELEFIR (HE)
0 gl Ev g = H 5 R 1(310)3 5-6-9-10 | 38.7 7 (4;8) ey
RTANRTy Y2 BTLIT—TILY 739577 — I
® 1—F—@EBIERL
1T=7r= 2,8,10,1,3,4,5,6,9,7
20—F— 2,8,10,1,4,3,5,6,9,7
Ja=5= 2,8,10,1,4,5,9,6,3,7
43—+ — 2,8,10,1,4,6,5,9,7,3
[ N5
B 2 3,410 714K 1-2 5,930 e E 1-2 31,440M JEE 1-2-4 108,980
B B 2 450/ 2-4 3,940/ B = 52 52,250M EE 2-1-4 1,190,820
1 950 1-4 5,530/ B H 2-1 65,190M
4 500
ABICOVWTRHDTERERRODLDE, THERLE,



